Covwoluhon (FET 1 Move Apglications

pr'n % Shag Méd\ms Wik mismadches

uen ?(
G &.«ez" ond K,

decide 3L st Howmwwg disfonce
between P*-- fm ond Lo S

< k.
e () v4 tod) <

Y ey disk \&Q\\%@% _

toxd: " O\\SMA(A:,MS—?‘”\"
?oakm: " (\’\"nMiC

=

(&'V Al o\\jrv\ . OCW\V\) e
E'\.ﬁl-&h S’\'\ R +o Covadt )A \{:\ K\:_tl'\j}\ _

—pc\r o L
((yes & W= m—k )

\*(0«’7 ,@y Qﬂ\cl« C € ((:
yu\t )A(C) \ {) :\- N Q} \

- 7@
\\—3

COMVO((Ahbn‘ (&ﬁ(‘v V&NGYIV\% B)

T p

ceg

= \QTZ\ v\\ogr\D e

What # (T @rge?

S




Pf\o(&keAMSOn(g Pr(g(m ’8‘] ’

ome digde o Wigh vs (0w frequacy cose
let T—H: {Cei; ¢ occwaes > D fiwmes

/ W pottern
U = occurs €& O hwwes

L7 el @ 3 Jovern]
\Tulc 2

|, High Case Lor eadn € Uy,
: ) :
QJAMR(:,% rA\ —Cov al b\l Coy\\lo(w”\(‘)n

&+ pT T
cely

= o \ % wlog )
- O<%V\(°8'\>

2. Low as®:

,@w Q= \4o n
\‘—? AV é‘ f ‘Sb\‘as
e oSl e @93

Lor eadh ) wih 73=Ty
\O\CJ‘QNO\’" f"H

=) 0(&n)
'QD‘Q'&\ e O( ﬁ"&v\\oty\ Ay br\\>
chorse 3= \mimgn D (0wl + nlig)

= 6’(‘,\\@\) E

e | m.mv\d();sfpo(QJf /OK(—: /6’(“\(‘;)

f o A



—
(ole- puir- Lomersei-Fore? ST
Ga\wvyatstk‘(—o%awski ,\2 . /\'( nt N r\k

aqprox O )

P’?QU S Su&oﬁe\ Sawm

1‘769{'\1\(
G\\UU\ Set S of w \V\(-Qgsers L= Joncogd nawbre \

Jdeede 3 subset &S S AHart Swms o .

(asT)
\{v\ow\; N o&zls
or O(V\T) by DY

(90\\} Sz l\o\\‘,_,c\n}
Pafiw C[ )7 Ame W ELSRLNS «9}
oot sums o o
LQ’ 5™, A= 0) /T)

Then C(1,) 2 Q(sw 3 Ve, ) )

@OK(QBS- § du’l\‘(‘mkj are allowed Q-’L R ic (}\V\A%A("\"IS€+>
w do bty
Daliire CQ)C{} . fvue 3 multise LSS wit
< ) <lews
'(’(/\6{\— uws o .
_ﬂMlV\ C_
e - (4P 6o
L \/ (v )/\ C (L L>
n o
\

!
‘ f%‘”\‘m“ Qg V\UG\U\’\’\OA ’



ol ®roy of SRR T

= (o Compude. C@ Lronn an) Y O(Tlo:ﬂ") e
D Apdel Mme \9(T \s'L’r)j
3

= A

punl %JCT

dnosn worle for
(% u angwald vroblem, |

Ko;(;a({s & XV\ / ‘7: 6Q T @ AQ}WM\M?“"C
= %f ORI 177+ 6'(/(3 rowdomired .

! !
Bringmonns Floymm -

/

[
Lewma | Sugrose S < (,\)—3 & seln uses Sk alems.

~~ 2 ‘n
—lan  frere is vand, dlgm wila O(k V) .

’W .
gﬁd‘ P balls W bins ro\vxécwvxl\r

Wi Nob 7 T
LY b o

¢ ?((9 2 balls th SOMe bm )
A
= Cj R —™=2 . b

Qo\(-\—\%o\,\ ¢ who \r;L Swbsets S’\”)Sk’l

doons < badX .

{dean



